B o v orsp 070

" DPSP RFIMNIEASEL

BRSNS 1S015552, 112 $32~125, IREERZ,




02/12  DPSP RFIM{EASHEL www.wxhengli.com www.wxhengli.com DPSP RFINEASE  03/12
BIE%iF ZiEE
DPSP 2 x50 PPV A 2F AR AL
A5 ® @ ® @ ® e il
@ - SETZ : 32 40 50 63 80 100 125 . s s 4 s . (2] 7EEAF BEEW
@ X SHEI1T4E :1...2800 . W 7] [3] A POM/ &4 (-E1/-E2/-E3)
e REESE
® - 4Eyh: P= PRIRT ML IR, PPV=SEhaliE%E h; PPS= BiAT [4] s FEE
@ | mEEW: A= EURMIFX; = RHEBETX %% 2 GIEE FaRAiREa S
= aatitid RER e : i [6] 5= AR S
|| Rt _
HRFISELFE 1S015552 #ofe, £I2 ¢p32~125, EEMRE | EEFREER B BT { HI . o — [7] iégmi:i TPE-U(PU)
RELRS. ® fF—i B |EL A R I LIS s s PUR
4 B
2 |wmEmiF| F| mes |62 |BFeewEss T -40-80°C - ; | [0] ErheEEt PUR
= E g s E3 | BT RRENEE | R |[WEBEHLE, maxi20°C 8 9 10 [10] #HHE POM
- o - R, RIRUEBE PAREAEHISR S S
-HEERE, ThIM, BEMEELT. A — o
BB R INANE, BTFR. - SEE BAETEN
GEEBRHRATAN Y BBERTEEN, BIMEINEE, . - E=RY FEEFIN
BEHEAE, ok, BASH SMERST
BN ER: ZHEERMIEEENZRAHE
abriteN A [2J+]
FERASH WH L8+
7 ¢ 32 40 ENEE 80 100 125 L _ P PL| | va
BRge "atngE 1SO 15552 VD L7 EE
= '
[I: [Iﬂ! | | =mO G1/8 G1/4 G1/4 G3/8 G3/8 612 G1/2 A RECH - ey }
o SR : T SEEFHES | M10x125 | M12x1.25 | M16xL5 | MI16x1.5 | M20xL5 | M20xL.5 | M27x2 I
I — 4712 [mm] | 1...2800 X X
P: 34 ) PPV: SENEIALE S PPS: BIATE)
" K sisR | AE AR W INER o
X2/ <1 BG — ¢
G
-BAREH
Ep THERIRESR 80/125 0125
DPSP-...-P PR SRR IR fI12 ¢ 32 ‘ 40 ‘ 50 ‘ 63 ‘ 80 ‘ 100 ‘ 125 ol
DPSP-...-PPV Fim S A E TR TN E4EES (2 40um LLEEREE) 17
DPSP-..-PPS | Wik EigisE s TEEAMPa | 0.06..12 | 0.04..12 | 0.02..1 + RS
e 5 ekt T
AR | -20 ~ 80° C ® (1] —THRL, BENAFRETY
BHKE (2] BHEL, RFAETARLESES
it S T 2% 2 €§
572 ¢ 32|40 | 50| 6380 | 100 | 125
PPV[mm] | 17 | 19 | 22 | 22 | 31 | 31 | 45 7 [N] LA 1]
L e i ¢ 32 40 50 63 80 100 | 125
wap | NEERILME, 6bar, ## | 483 | 754 | 1178 | 1870 | 3016 | 4712 | 7363 T REEEA
B PIER HEIBIME, 6bar, EE | 415 633 990 1682 | 2721 | 2721 | 4418
ZxUE | AR BB R 0.4 0.7 1.0 13 18 25 25 - @ % F —— 10 | :ﬂ @
—— HFRAERE : RAFARE @
HE: IXE _2XE e v
VR TR E = m+m m, = N -m, + —ﬂﬂﬁizjxlg
ERAMTAR M, v ++ =MI2MTIZKE
m, BRI (D) Wi Le+
m; AR AR ZEBARERINRKE. BNETRAFRPTEES,
ZM++




04/12  DPSP RFIM{ERASE www.wxhengli.com www.wxhengli.com DPSP RFINEASEL  05/12
HEEEEEE————————————————EEEEEEEEE—E———_—_,_—3)hmmm

MR~ MR~
fI12 o[mm] | A-0.5 Bopdll BGmin E+0.5 EE G-0.2 U2+£0.1 Ul£0.1 KK R ED -E1/-E2/-E3
32 22 30 16 45 G1/8 28 5.7 5.25 M10x1.25 FIKEX0) 32 40 50 63 80 100
40 24 35 16 54 G1/4 33 8 4 M12x1.25 B B PESELEBIE
HR/IT
50 32 40 16 64 Gl/4 33 10.4 5.5 M16x1.5 BEERTSEK
63 32 45 16 75 G3/8 40.3 12.75 6.25 M16x1.5 Eessvzalll 500 500 2000 2000 5000 5000
80 40 45 17 93 G3/8 43 125 8 M20x1.5 KR EHEE, mAHMEER [mm] 13 13 13 15 1.5 15
100 40 55 17 110 G1/2 48 135 10 M20x1.5 [MPa] <0.25 <0.15
=/NBERES
125 54 60 20 136 G1/2 44.7 13 8 M27x2 [bar] <25 <15
[MPa] = 0.05
BABEES
5142 ¢[mm] | L2 L3max. L7 18+0.4 MM PL*0.1 RT TG+0.3 [bar] =05
32 18-0.2 5 6.5 94 12 19.5 M6 325
40 21.3-0.2 5 7.5 105 16 22.5 M6 38 AR
50 26.8-0.2 5 9.5 106 20 225 M8 46.5 « BRI BEBHRXEFHSHRONMEASILEEFER, UWRERESIEEHE, SHELTeBK.
« AEEERNIEETE, THEBREEEE, BN, FEFNRAGHEEREHOING, IRREAES QA—T=(RiER) HARERIEARSM.
63 27-0.2 5 9 121 20 27.5 M8 56.5 . L g s fc ap [y T
« —BSEGEANNMLRAUE, MaEERTREUEHITHE,
el 34.2-02 - H 128 25 30 M10 ” —MRBERENKRUEET (50% SXH) TRSHMEBLTRTBIRS, BRIRER.
100 38-0.2 - 7.5 138 25 31.5 M10 89 « HESFLARREM X IF
125 45.5-0.3 - 10 160 32 22.5 M12 110
f1#E d[mm] | VA VD+0.5 WH+2.2 7J+1.8 M =1 =2 =3
32 4,4, 10 25 119.1 146.1 10 16 6
40 4,4, 10.5 28.7 133.9 164.8 13 18 6 E1/E2/E3 - AEUENE
50 4,4, 115 35.6 141.8 179.8 17 24 8
63 4,4, 15 35.9 157.1 195.4 17 24 8 7
80 4,4, 15.7 45.4 173.6 221 22 30 6
100 4,4, 19.2 49.3 187.5 238.8 22 30 6 8 ‘@ ’ ]
125 605 205 64.1 225 290 27 41 8 (. @ B AR o
- [ ZZFORTFHES /B
RNHS. REBHIBFHS
1
L4 L5 ‘ D2
F - PB4
1 k3 D1
AF d[mm] AFmin. D1 KF T1lmax. T2
T 32 12 6.4 M6 16 26 E1 - Pl & in i & B E E2 - BRI EME, BTFEMLIEENT E3 - R EBE, BTFEREIEEM
40 12 8.4 M8 16 3.3 d[mm] D1¢p D2 H1 L4 L5 $[mm] Dl¢p D2 H1 L4 $[mm] Dl¢ | D2 H1 L5
by B A H 1 R 50 16 10.5 M10 21 47 32 13 M3 57.5 14 14 32 13 M3 57.5 14 32 13 M3 57.5 14
63 16 10.5 M10 21 47 40 13 M3 64 17 17 40 13 M3 64 17 40 13 M3 | 64 17
30 20 13 M12 26.5 6.1 50 20 M5 78.5 18 18 50 20 M5 78.5 18 50 20 M5 | 78.5 18
100 20 13 M12 26.5 6.1 63 20 M5 84.5 25 25 63 20 M5 84.5 25 63 20 M5 | 84.5 25
125 32 17 M16 40 8 80 30 M5 105 22 22 80 30 M5 105 22 80 30 M5 | 105 22
100 30 M5 113.5 25.5 25.5 100 30 M5 113.5 25.5 100 30 M5 113.5 25.5




06/12 DPSP R5IF{ERSHEL www.wxhengli.com www.wxhengli.com DPSP RFINERASE  07/12
ZERHFN EEYE
LB ) FREEEY TA/TB il / e HER
XA+
XS AU AC vy - TL ™ TL
L KL SR ‘
l', _;;I]
; ' 0O Rl
~ M " N N N wn 1
i 1 e — o™ ] Kt
] < < ) - 1
i | ~ e
‘ ; XH TK L#_j
[amm | \— — ® # {
SA+ E AB ! ! XL+ ‘ Cc3
TR
+=IN T 742 us
+=INIT1E(TH2
142 d[mm] ABo AH AO AT AU SA TR us XA NS ,
142 o[mm] 2 c3 TDe9 TK TL ™ us XH XL
32 7 32 6.5 4 24 142 32 45 143.1 46
32 71 86 12 16 12 50 45 18 127.1
40 10 36 9 4 28 161 36 54 161.9 52.7
40 87 105 16 20 16 63 54 18.7 143.9
50 10 45 9.5 5 32 170 45 64 173.8 62.6
50 99 117 16 24 16 75 64 23.6 153.8
63 10 50 12,5 5 32 185 50 75 189.1 62.9
63 116 136 20 24 20 90 75 23.9 169.1
80 12 63 15 6 41 210 63 93 214.6 80.4
80 136 156 20 28 20 110 93 31.4 187.6
100 14.5 71 17.5 6 41 220 75 110 228.5 84.3
100 164 189 25 28 25 132 110 30.3 206.5
125 16.5 90 22 8 45 250 90 131 270 102
125 192 217 25 50 25 160 131 40 250
FA/FB &l / BA=%
R CAQ B E EEHHhAE
FB
L M M 2
11 4 @ | H
@ @ M E5HE
(7N o
\S/Nek :
©=8 E
AL 1] {ﬂ} pany Vil Z
L || N4
- ZF+ ME E EP
EX
+=IITEITHE .
fEf712 +=INT{ETH2
EI12 d[mm] E FBpH13 MF R TF UF W ZF
32 45 7 10 32 64 80 16 129.1 EL1Z d[mm] CN E EP*0.2 EX FL*0.2 LT MS RA+1 TG XC
40 54 9 10 36 72 90 18.7 143.9 32 10+0.013 45+0.2/-0.5 10.5 14 22 13 15+0.5 14.5 325 141.1
50 65 9 12 45 90 110 23.6 153.8 40 12+0.015 54-0.5 12 16 25 16 17+0.5 17.5 38 158.9
63 75 9 12 50 100 120 23.9 169.1 50 16+0.015 64-0.6 15 21 27 16 20+0.5 18.5 46.5 168.8
80 93 12 16 63 126 150 294 189.6 63 16+0.015 74.5+0.5 15 21 32 21 23-0.5 23 56.5 189.1
100 110 14 16 75 150 175 333 203.5 80 20+0.018 92.2+0.8 18 25 36 22 28-0.5 36 72 209.6
125 132 16 20 90 180 210 45 245 100 20+0.018 109+1/-0.7 18 25 41 27 30%+0.5 95 89 228.5
125 30+0.018 132+1/-0.7 25 37 50 30 39+0.5 100 110 275




08/12 DPSP RFIMM{EASEL www.wxhengli.com www.wxhengli.com DPSP RFIM{EASEL 09/12
BEAFR BEAR
CA £ EEE DW Z (i BA L
E
HE: SR e ik
) { - & E2REEIEAS Z)+ i FlE Z)+
& s © e B . NAEE e — —
4 W= i
‘@ N - (@ @ 7
’ 16 © = O—"e|[| [0 =——0©
(@) . L
EW L —
FL
- |FL_|
+=INI1E 742
_ LIM=MIE TIMEMIE
52 F1 ZJ+1.8 BiTi2 : —m : —m
# plmm max 8457 (mm] SR MTIRARER AL SR MR ABEN AL
142 p[mm] CDPH E EWh12 FL+0.2 L MR TG XC
32 27 119.1 500 123 123 4
32 10 45+0.2/-0.5 | 26 2 13 10 32,5 141.1
40 27 133.9 800 —
40 12 54-0.5 28 25 16 12 38 158.9 =
50 32 141.8 800 ﬂEJ
50 12 64-0.6 32 27 16 12 46.5 168.8 A BC D
63 28 157.1 700 A BC D
63 16 75-0.6 40 32 21 16 565 189.1 ==l — =
80 38 173.6 1000
80 16 93-0.8 50 36 22 16 72 209.6 =@:‘[|;|E= .ﬂ:@:
100 38 187.5 900
100 20 110+0.3/-0.8 | 60 41 27 20 89 2285 —{ | O — T
125 48 225 1000
125 25 131-0.8 70 50 30 25 110 275
CB WEER TR 4HEHEE
XJ+
£ XV+1/2
MR EE TG REAM I R XG [
PENEEME, A=
\ . e [ il OO | 2
3 f2aN - &— Ml E5R
y g ™
. “g (] e =i R fey) @ €@> -
. = @
@ e 5 d )
(@ cB L U = J I\ =
L8 e v =MIAETIE
+=INTEITIE xe +1/2 =IN—*T{E1T2 [1] ZRAREHE
£I1Z d[mm] CBh14 E EKPH9/e8 | FL£0.2 L MR-0.5 TG UBh14 XC 112 d[mm] B1 C2 C3 TDpe9 TL ™ uw XGmin. XJmax. XV Max.[Nm]
32 26 45+0.2/-0.5 10 2 13 8.5 325 45 141.1 32 30 71 86 12 12 50 65 6914 76+1.4 7314 4+1
40 28 54-0.5 12 25 16 12 38 52 158.9 40 32 87 105 16 16 63 75 77.7+14 | 849%14 | 812%14 | 8+1
50 32 64-0.6 12 27 16 12 465 60 168.8 50 34 99 117 16 16 75 95 85.6+14 | 91.8+1.4 | 88.6%14 | 8+2
63 40 75-0.6 16 32 21 16 56.5 70 189.1 63 41 116 136 20 20 9 105 96.9+1.8 | 96.1+1.8 | 96.4%1.8 | 18+2
80 50 93-0.8 16 36 2 16 7 90 209.6 80 41 136 156 20 20 110 130 110.4+1.8 | 108.6+1.8 | 109.4+1.8 | 28+2
100 60 110+40.3/-0.8 | 20 41 27 20 89 110 228.5 100 48 164 189 25 25 132 145 121.3+1.8 | 1155+1.8 | 118.3+1.8 | 28+2
125 70 131-0.8 25 50 30 25 110 130 275 125 50 192 217 25 25 160 177 1347418 | 1553+1.8 | 145+1.8 | 40+2




10/12  DPSP RFIFUEASEL www.wxhengli.com www.wxhengli.com DPSP RFINEASEL  11/12

SMElTTH—E SMETTH—
- - REREGRMEFEE
Fe R =1 BEHER
15 FD TSk AFMERRNAERE
16 FA/FB 8 ) Bk AT MRS TEATEAS THABAN FCZ MNmRiEE -
17 TA/TB/TC 1/ 9/ R AT AR ETEAETEAS THLBAN FCZ MihAIRE L
18 TZ IS 5 TA/TB/TC/TREZE A
19 LB SRR AT A
20 DX SHgT AT R E SIS SEHE R R 0EsE
21 CB WE ATinRs
22 LN TR EE 5 CBEER
3 LNQ2 RERE LB HIREHA
24 CA =R =) BATiRs
25 cAQ E =g AFiE
2 LNQ BRI HIRERR
27 R A AT REEIHASEEME
28 bW SABREAM BRI RN SIS EAR— S B
AT
&R D ns £H B Bs
B BRIESL VY Ik
32 YY-M10X 1.25 32 I-M10X 1.25
40 YY-M12X1.25 SN 40 I-M12X1.25
53, 63 YY-M16X 1.5 (-’ 50, 63 I-M16X 1.5
80, 100 YY-M20X 1.5 . 80, 100 I-M20X1.5
125 YY-M27 X2 125 I-M27 X2
SEEMESL FD
32 Y-M10X1.25 32 FD-M10X1.25
40 Y-M12X1.25 40 FD-M12X1.25
- RERRRHIER 53, 63 Y-M16X 1.5 53, 63 FD-M16X1.5
ey e pepm EERE 80, 100 Y-M20X 1.5 80, 100 FD-M20X 1.5
1 PC BefEEk B, BTEERENESE e e e oA
2 NSE BRI AR
3 PL Bk B - C Bt FF
4 Fcz o= RIPSEL CERIT. BEHENBER) RBESHAROEN, BT PER
5 c BAMEFF T AT R p e HEFX, BT TRE
. o_—— LR B Fim i B K m e ERITE ¢
7 23R AFRLER R
3 i [ gﬁ%g%)\*gm , | PNP WA, =& 1.3 CDX-13P-1.3 32~125
9 w iR IR E R ’ NPN iR, = 1.3 CDX-13N-1.3
10 CBz BERAWEKSE R EFER, =8 13 CDX-13R-1.3
11 YF Y Bk HIMBLL 25 CDX13R2.5
12 CBG HIf
13 | | Bk AVFRETE— FER LIRS
14 Y Y BlEsL AVFSELE— FESIUE

[
S
=
I




HE

#mE

+86 400 101 8889 +49 (30) 72088-0
xE Z:N
+01 6309953674 +81 03 6809 1696

© REBI[HABRN, ©KEFRERBIRGUEASR
ElhR. iE. ERRERBFARNETEE BFFR—EE
FHF RIS, FECHPESFH NIRRT HRMSE
SEAM, WFRELMm~ENERF TR R ERER, 83
SENRAIB R T,






